





(vi) Here, a®c = a x a x b » ¢ = (24 - 5b) (2 - 5b ~2) Ans,
ab’c =axbxbxc [Taking (2a ~ m
abc =axbxcxe (v) Here, (51 + 3m)? - 51 ~ 3m o

Three terms have a, b and ¢ as common factors, = (5] 4 3m) (5] + 3m) -~ 1
Hence, a’bc 4+ ab* + abc? =ax ax b x ¢ =(51+3m)(51+3m~1?f
taxbxbxc+axbxcxc (). 4. Factorise :
=axhxcx(a+h+c) (i) x*+ xy + 6% + 6y
=abc (a + b + c) Ans. (ii) y2-y2 -3y + 32 N
(vii) Here, pxly=p x x x x  y (iii) 12xy - 8x + 3y -2 ‘
PP =gxxXyxy (iv) a?h - a;)z+4a -4b
TXYZ =7 X XXYyXz (v) X2 -6x> +%x -6
Three terms have x and y as common factors, | (V) a% + ab 1+b)+b>
Hcme,px2y+quz+r,xyz=px;cx‘xxy (Hint : Fil‘!tmllmt‘

tgxxxyxy+rxxxyxz| () 3px-6py- 8qy + 4qx
=XXYyXPXX+GXY+TX7) (viii) r =7 + Tpq — p2qr Bt
=xy (px + qy + rz) Ans. Solution.(i)Hcrcix, R i
(viii)Here,]()pq=2x5xp><q =x(x+y)+
15qri=3ix 5 x g X7 "'("‘El?’a)k(;;
5 20mp =2%x2x%x5%xr%xp (u)Herey2 L fl 3y+3z
ec terms have 5 as common factor, i
Hence, 10pg — 1597 + 20 =2xSxpxq | e
-3X5xgXr+2x2x5%xrxp T be
=5%x2xpxg-3xgxr
+2%x2x%xrxp)
=5 (2pg - 3qr+4tp) Ans.
Q. 3. Factorise : '
(1) 3a (2p - 3q) - 5b (2p - 3q)
(i) 15a (x* + y2) - 10b (x% + y?) . A
(i) 4(x+yP?+2(x+y) L o s e
(iv) (2a-5byP +10b-4a . s st
(v) (51 +3m)* - 5] -3m
Solution. (i) Here, 3a (2p - 3q) - 5b(2p 3q)
= (2p - 3g) (3a - 5b) Ans.
Taking (2p ~ 34) commou]
(u)Hm 15 (2 +y?) - 106 (2 +¥2)
=502+ (3a-2b) Ams. | -
[Taking 5 (x2 + y2) common] |
(i) Here, 4 x + yP +2 (x+y)
=2cx+y)[2(x+y)+1]m.“f
[Taking 2 (x + y) cor
Tl 3 :w+y><2x+2y+1>Auf-v"
' () Here,(2a-5b +10b-4a
' =(7a-§@ﬁ¢-5b)-—2
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